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2. Internet Bubbles and Subprime Mortgage (25%)

(a) Please apply the IS-LM model to explain the possible causes of U.S. recession of 2001 after the burst of
internet and communication bubbles (48 38 3% 1 E)

(b) What are the policy responses of the U.S. government to the burst of the bubbles?

(c) How the U.S. policy response might trigger the current crisis of subprime mortgage (Ff 3§ % & & &)

(d) What are the policy responses (financial and monetary) of the governments around the world to the
current crisis of subprime mortgage? Why make them make these policies?

(e} In your opinion, would these policies turn out into another bubble? Why?
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